Aptitude Questions

There are three sections.

Section 1-ENGLISH

1 a> In this section 2 passages were there on basis of that u have to answer 10 questions (5 question each ) 

  First passage was based on ball tempering by Indian team with mix of lagan story .In this answer of first 

  question was (Ball tempering) the second passage was based on Gadar movie.(same story).

Synonyms:

 1.Candid:ans frank

 2.Specifaction :ans documentation

 3. Extradite =deport 

 4. Cursory= scold

 5. ----------= very high

 Fill up the blanks with proper word(5 questions) 

 Pick the sentence which has grammatical mistake.(5 questios). 

Section 3-Verbal (20 questions)

  Here few questions are from logical reasoning (eg.)(6 questions)

  Sentences: ( type of question) (logical deductions)

  i.some cats are dog

  ii. no dog is lion 

  conclusion :

  i. some dogs are lion

  ii. some dog are cats 

  options:

  a. only  follows 

  b. either I or ii follows 

  c. none follows 

2 questions on +means *, %mean -, etc..

  answers of those questions are 4 and -20/3..

  letter series example aabb-abda�bbaa this type one question

   a question of this type 

  find the next term in AM ,BA ,JM like this 

  Aptitude questions:

  1. It has 20 mixutre conatins mil and water in the ratio 3:5,replace 4 litres of mixture with 4 litres of water what 

     is the final ratio of milk and water.

  2. + means * and * means / and / means % what is the value of these question

     2+3*5/7 it was two question of these type.

  3. The equivalent compound ratio of 5:6::7:10::6:5 ( question of this type)

  4. Work can be done by 8 men and 10 women in 25 days, the same work can be done 

     by 10 children and 5 women .In how many days 2 children and 3 men  

     (similar to this) 

  5. One man or two women or three boys can do a work in 44 days then one man, one women and one boy together can 

     fininsh the same work in ---- dyas

  6. (998-1)(998-2)(998-3)����..(998-n)=------- when n>1000 ans is zero

  7. In how many ways can a lock be opened if that lock has three digit number lock if 

     i) the last digit is 9

     ii) and sum of the first two digits is less than or equal to the last digit.

         numbers are from 0-9

  8. If a man reduces the selling price of a fan from 400 to 380 his loss increases by 20% .cost price of fan is.

  9. There are 76 persons. 53 can read hindu,46 can read times,39 can read deccan

     and 15 can read all.if 22 can read hindu and deccan and 23 can read deccan and times

     then what is the number of persons who read only times and hindu���ans 18 

  10. In pure milk if 20% replaced by water and in this again 20% is replaced by water and again 20% is replaced by water       then what is the praportion of milk in that mixture

  11. After 10 years A will be twice the age of B before 10 years.and now if the difference is 9 years between them then what       is the age of B after 10 years ans 49.

  12. Races and games ---- 2 questions from this chapter like (A beats B by 10 meters and B beats C by 15 metres the A beats       C By ..

  13.In the year 1990 there are 5000 men 3000 women 2000 boys .in 1994 men are increased by 20% women are increased by ratio      of boys and women (this type of question but some what difficult I mean it takes too much time to solve)

  In the last part you will get option E as answer but there is no option E to tick in the answer sheet please be careful

  cceleration * distance). Find units.

ACCENTURE PAPER-2 

 1. I sow her -__ airport 

   At , on ,  in ,  across

 2.Masi specialises __ plesent ,well balanced wines   

   into,  about   ,in,   with

 3.By the time I arrived __ the pub she all ready left 

   in, on , at, into

 4.erbiage

      the act of doing something 

      the use many words witout nessecity

      a vegitable

      non of the above

 5.frutful means

     justify

     futile

     efficient

     productive

 6. aestheically means

      tastlessly

      artistically

      hazardously

      colurfully

 7.___panda & white tiger are in denger species ? a ,an ,the ,none

 8. __ doctor who you met yesterday was my father ? a, an, the, none

 9.__ university of its status does�nt eevn need to advertise ? a, an, the , none of the article reqiuered

 10.45students , 12 in debate only ,22 in singing only how many in both ?  9 ,11 ,25 ,45

 11.10 play cabaddi,20 play kho kho only ,5 both how many in total ?  35,28 ,40,can�t say

 12.100 spoke english, 40 speek french ,20 both at least one?    110,100,140,120

 13.200 total 125 like piza 115 berger both? 15,40,72,80

 14.10 friends meet for movie 20 for picnic and 5 for games 4 for m& pic 2 for m&g 0 for p&g 2 for all hoe many are students?     11,16,25,35

 15.A poll poniting towards east by accident started to point towards south. A man was travelling thing west  what is the     actual dir ?N,S,E ,W

 16.Sagar was riding bike towards north,turned left road 1 km turnes towrds left &road 2km found himself 1km west of starting     how far did he road north? 1,2,3,5

 17.600 to be seated.10benches are less.so 2 more persons are required to be seated in each bench.so how many benches.  

    209

    36

    44

    60

 18.Selling a ac gains 25% on SP.what %gain on CP.

    25

    33.33

    47.5

 19.Students from different universities.

    A speaks hindi and bengali. 

    B hindi and english.

    C english and bengali.

    D tamil and hindi

    E bengali and tamil

 20.Interpretor between C and D

     A only

     B only

     E only

     A ,B and E

  21.Can't speak without interpretor 

     B&E

     A&B

     A&C

     B&E

 22.5 children were born on the same day but on different years in b/w 1999 - 2003 . Abhya is younger than dinesh and frahan      vaskar is naughtiest of all. girish is older than dinesh and farhan.  If Abhay is born in 2002, then in which year farhan     is   born : 

    1999-2002

    2000- 2001

    1999, 2000, 2001

    2003

 23.Order in which childrens are born ? 

    B,D,G,F,A

    G,D,B,F,A

    G,A,B,D,F

    F,B,D,A,G

 24.* = +, / = *, + =- , - = / 2/9*11+10- 8

    A) 20.8

    B) 27.8

    C) 27.8

    D) 25.8

 25.*= -, /=+,+=/,-=*

    12/20*4+80-4=31.8

    20*4/4+80-4=-8.2

    12*4/20+12-4=-12

    4*12/4+80-4=-8

 26.------stores a log of changes made to db,which are then written to _,which are then written to _,which is used if db     recovery is necc.

   a) db buffer share pool

   b) program global area,shared pool

   c) system global area,large pool 

   d) redo log buffer,online redo log

 27.----means allowing objects of difference types to be considered as examples of a higher level set :

    ans: Generalization

 28.The primary characteristic of key field is that it must be unique

 29. Manager-------------- --emp managed by   ans:one of many recursive relationship

 30.If a member initialiser is not provided for a member object of a class .The object - is called

    a) static fn

    b) non static fn

    c) default constructor

    d) none

 31.class constest

 {

  private:

     const int i;

  public:

    constest():i(10)

}

32.Inheritance

   b) abstract base class

   c) specifies a way to to define a const member data

   d) none

33.Iimplement polymorphism when by object belonging to different class can respond to the same message in diff ways.

  a) late binding

  b)dynamic binding

  c) dynamically created object

  d) virtual fun

34.Member function---------- and ----------- set and reset the format state of flags.

   a) set,reset

   b) set,get

   c) set, unset

   d) set ,unsetf

35.#include

  struct abc

     {

       int i;

       abc(int j)

         { i=j;}

      public:

      void display()

       { cout<

class sample

  {

     public :

     sample(int **pp)

    {

      p=pp;}

   int **p;

   int **sample:: *ptr=&sample ::p;

37.  In a file A...Z characters are written.if we open the file using fopen and 

 lseek(fp,-10,2);

 c=getc(fp);

 printf("%c",c);

 what will be the output.?

 Ans . Y.(please verify Here last parameter is the integer value to seel_end 

39.Same question with

lseek(fp,10,0);

c=getc(fp);

printf("%c",c);

ans. 11th character will be printed "K" verify.

40.Theory question about far pointers.

Hint: Far pointers are 4 bytes in size and local pointers are 2 bytes in size. important: i saw in a previous question paper of accenture which is in the chetana database, some lady wrote that size of an integer in C is 2 bytes and for C++ it is 4 bytes. This is absurd.The size of types is entirely dependent on the compiler used.for DOS Turbo C sizeof int is 2 and float is 4 bytes for windows borland C,C++ size of int is 4 bytes for linux gcc, size of int is 2 bytes. All these depends on the Operating system.Please keep this in mind.

Now some questions about extern variables.

42.#include

main()

  {

   char str[]={"hell"};

   int i;

   for(i=0;i<5;i++)

   printf("%c%c%c%c\n",str[i],i[str],*(str+i),*(i+str));

   getch();

  }

   ans.

   hhhh

   eeee

   llll

   llll

 note that str[i] and i[str] are the same.in the question paper, the original word is "hello".

43.Which of the following is not defined in string.h strtod,memchr,strspn,strchr

ans . strtod.(defined in STDLIB.H) it is used to convert a string to double.

44.Questions on macros with arguments .same pattern given in TEST UR C SKILLS

   eg.#define SQUARE(x) x*x

    main()

     {

       .......

       y=SQUARE(2+3);

       printf("%d",y);

     }

ans. when the macro expands we get 2+3*2+3 = 2+6+3 =11.11 is the correct answer not 25.

Remember an inline function does type checking and so it is better than a macro a question on this.

45.Some memory is allocated using memalloc and then realloc is called. and now to write the size  of the variable.better learn memalloc and realloc. what it does and syntax.
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46.  What is the equivalent compound ratio of 5:6::7:10::6:5  

     1) 2*3/5%75%7 = 5so Ans is 6/5             

47.  + means * and * means / and / means % what is the value of 2+3*5/7  

     2*3/5%7=1.2

48. One man or two women or three boys can do a work in 44 days then one man, one women and one boy together can finish the     same work in ---- days

49. It has 20 mixutre conatins mil and water in the ratio 3:5,replace 4 litres of mixture 

    with 4 litres of water what is the final ratio of milk and water.

   ans:milk:water = 3:7

50.There are 76 persons. 53 can read hindu,46 can read times,39 can read deccan and 15 can read all.if 22 can read hindu and

   deccan and 23 can read deccan and times then what is the number of persons who read only times and hindu

   Answer: 18 

51.In how many ways can a lock be opened if that lock has three digit number lock if 

   i) the last digit is 9

  ii) and sum of the first two digits is less than or equal to the last digit.

   numbers are from 0-9

52.In pure milk if 20% replaced by water and in this again 20% is replaced by water and again 20% is replaced by water then      what is the proportion of milk in that mixture?

   Ans: 51.2%

53.If a man reduces the selling price of a fan from 400 to 380 his loss increases by 20% .What is the cost price of fan

   ans:50

54.(998-1)(998-2)(998-3)����..(998-n)=------- when n>1000

Fibonacci series and palindrome program in C

Abt Gates(Be prepare on Digital Circuit Logic Design)

Abt complier design(phases)

bt TCP&IP and OSI Model.

Abt OOPS concepts.

55. Given $ means Tripling and % means change of sign then find the value of $%$6-%$%6

Ans: -74 

56. My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place with coordinates 36N70W. What is the local time when my plane landed?

6:00 am      b) 6:40am     c) 7:40     d) 7:00    e) 8:00

Ans: (Hint: Every 1 deg longitude is equal to 4 minutes. If west to east add time else subtract time)

57. Which of the following set of numbers has the highest Standard deviation?

     a)1,0,1,0,1,0        b) -1, -1, -1, -1, -1, -1

     c)1,1,1,1,1,1       d) 1,1,0, -1,0, -1

Ans: d ( hope so )

58. If two pencils cost 8 cents, then how much do 5 pencils cost?

Ans. 20 cents

59. Some work is done by two people in 24 minutes. One of them can do this work alone in 40 minutes. How much time does the 

second person take to do the same work ?

Ans. 60 minutes 

60. A car is filled with four and half gallons of fuel for a round trip.If the amount of fuel taken while going is 1/4 more 

than the amount taken for coming, what is the amount of fuel consumed while coming back?

Ans.2 gallons

61. The lowest temperature in the night in a city A is 1/3 more than 1/2 the highest during the day. Sum of the lowest 

temperature and the highest temperature is 100 degrees. Then what is the low temp? 

Ans.40 degrees 

62. Javagal, who decided to go to weekened trip should not exceed 8 hours driving in a day. The average speed of forward 

journey is 40 miles/hr.Due to traffic on sundays, the return journey's average speed is 30 m/h. How far he can select a 

picnic spot?

a) 120 miles

b) between 120 and 140 miles 

c) 160 miles 

Ans. 120 miles 

63. A salesperson by mistake multiplied a number and got the answer as 3, instead of dividing the number by 3.What is the 

answer he should have actually got? 

Ans. 3

64. A building with height D shadow upto G. What is the height of a neighbouring building with a shadow of C feet.

Ans. (C*D)/G

65. A person was fined for exceeding the speed limit by 10 mph. Another person was also fined for exceeding the same speed 

limit by twice the same. If the second person was travelling at a speed of 35 mph, find the speed limit.

Ans. 15 mph 

66. A bus started from bustand at 8.00am, and after staying for 30 minutes at a destination, it returned back to the busstand

 The destination is 27 miles from the busstand. The speed of the bus is 18mph. During the return journey bus travels with 50%

 faster speed.At what time does it return to the busstand? 

Ans. 11.00am 

67. In a mixture, R is 2 parts and S is 1 part. In order to make S to 25% of the mixture, how much of R is to be added? 

Ans.One part of R 

ANS: 3.5 INCHES

68.In some game 139 members have participated every time one fellow will get bye what is the number of matches to choose the champion to be held?

ans: 138  

69. one fast typist type some matter in 2hr and another slow typist type the same matter in 3hr. if both do together in how much time they will finish.

ans: 1hr 12min

70.in 8*8 chess board what is the total number of squares refer Model

ans:204

71.2 oranges, 3 bananas and 4 apples cost Rs.15. 3 oranges 2 bananas 1 apple costs Rs.10. what is the cost of 3 oranges, 3 bananas and 3 apples? 

Ans: Rs.15

72. G(0)=-1, G(1)=1, G(N)=G(N-1) - G(N-2), G(5)= ?

ANS:-2

73. with 4/5 full tank vehicle travels 12 miles, with 1/3 full

tank how much distance travels 

Ans:  5 miles.

74. two trees are there. one grows at 3/5 of the other. in 4

years, total growth of trees is 8 ft. what growth will smaller tree will

have in 2 years. 

Ans: 1.5 ft

75. A storm will move with a velocity of towords the center in

hours. At the same rate how much far will it move in hrs.

 Ans 8/3 or 2 2/3

76. There are 150 weights .Some are 1 kg weights and some are 2 kg weights. The sum of the weights is 260.What is the 

number of 1kg weights?

Ans. 40

77. A is driving on a highway when the police fines him for overspeeding and exceeding the limit by 10 km/hr.At the same 

time B is fined for overspeeding by twice the amount by which A exceeded the limit.If he was driving at 35 km/hr what is 

the speed limit for the road?

Ans. 15 kmph

78. A moves 3 kms east from his starting point . He then travels 5 kms north. From that point he moves 8 kms to the east.

How far is A from his starting point?

Ans. 13 kms

79. The sum of the digits of a two digit number is 8. When 18 is added to the number, the digits are reversed. Find the 

number?

Ans. 35

80. The cost of one pencil, two pens and four erasers is Rs.22 while the cost of five pencils, four pens and two erasers 

is Rs.32.How much will three pencils, three pens and three erasers cost?

Ans. 27

81. Fathers age is 5 times his son's age. 4 years back the father was 9 times older than son.Find the fathers' present age.

Ans. 40 years

82. What number should be added to or subtracted from each term of the ratio 17 : 24 so that it becomes equal to 1 : 2.

Ans. 10 should be subtracted

83. What is the 12th term of the series 2, 5, 8, ....

Ans. 35

84. If 20 men take 15 days to to complete a job, in how many days can 25 men finish that work?

Ans. 12 days

85. In a fraction, if 1 is added to both the numerator at the denominator, the fraction becomes 1/2. If numerator is 

subtracted from the denominator, the fraction becomes 3/4. Find the fraction.

Ans. 3/7

86. If Rs.1260 is divided between between A, B and C in the ratio 2:3:4, what is C's share?

Ans. Rs. 560

87. A shopkeeper bought a watch for Rs.400 and sold it for Rs.500.What is his profit percentage?

Ans. 25%

88. What percent of 60 is 12?

Ans. 20%

89. Hansie made the following amounts in seven games of cricket in India: Rs.10, Rs.15, Rs.21, Rs.12, Rs.18, Rs.19 and 

Rs.17(all figures in crores of course).Find his average earnings.

Ans. Rs.16 crore

90.  One night Ram was studying for his examination when the lights went out.  He lighted two candles at the same time, 

both of equal length, one thicker than the other. The thick candle is supposed to last six hours and the thin one two hours 

less. When he finally went to sleep the thick candle was twice as long as the thin one. For how long did he study by 

candlelight? 

Ans : 3

91.A truck driver must complete a 180-mile trip in 4 hours.  If he averages 50 miles an hour for the first three hours of 

his trip; how fast must he travel in the final hour? 

Ans: 30mph

92. If the product of 3 consecutive integers is 210 then the sum of the two smaller integers is: 

Ans: 11

93.A worker is paid Rs. 20 for each day he works, and is paid proportionately for any fraction of a day he works.  If during

 one week he works 1/8, 2/3, 3/4, 1/3, and 1 full day, what are his total earnings for the week?  

Ans: 57.50

94. A drawer contains 6 red socks and 4 blue socks. What is the probability that if 2 socks are picked (without looking) from

 the drawer, both of the socks will be red? 

Ans : 1/3

95. If a triangle has base B and the altitude of the triangle is twice the base then the are a of the triangle is: 

Ans: B*B 

96.If the side of a square increases by 40% then the area of the square increases by: 

Ans: 96%

97.If 32 students in a class are female and there are 18 male students in the class, what percentage of the class is female? 

Ans : 64%

98.Dictionaries weigh 6 pounds each and a set of encyclopedias weighs 75 pounds. 20 dictionaries are shipped in each box, 2 

sets of encyclopedias are shipped in each box.  A truck is loaded with 98 boxes of dictionaries and 50 boxes of encyclopedias.  How           much does the truckload weigh? 

Ans: 19260 pounds

99. A clerk multiplied a number by ten when ten should have divided it. The answer he got was 100.what should the ans have been? 

ans: 1

100. A 16-stored building has 12000 sq.feet on each floor. Company A rents 7 floors and company B rents 4 floors. What is the

 number of sq.feet of unrented floor space? 

Ans: 60000

101. From its total income, A sales company spent Rs.20, 000 for advertising, half of the remainder on commissions and had 

Rs.6000 left. What was its total income?  

Ans: 32000

102. On Monday a banker processed a batch of cheques, on Tuesday she processed three times as many, and on Wednesday she processed

 4000 cheques.  In the three days, she processed 16000 cheques.  How many did she process on Tuesday? 

Ans: 9000

103. In a certain company, 20% of the men and 40% of the women attended the annual company picnic.  If 35% of all the employees are 

man, what percent of all the employees went to the picnic? 

Ans: 33%

104. Given that n= 15*24*28.  Which of the following is not an Integer.

(a. n/7  b. n/14  c. n/21 d. n/39)

Ans: n / 39

105. A boy is born when his father is 27 years old.  How old will he be when he is exactly half his fathers' age? 

Ans: 27

106. A train running between two towns' arrives at its destination 10 minutes late when it goes 40 miles per hour and 16 

minutes late when it goes 30 miles per hour.  The distance between the towns is?

Ans: 720

107.  If one angle of a triangle is three times a second angle and the third angle is 20 degrees mkre than the second angle, the second       angle is(in degrees)

    a   32    b   34  c  40     d  50   e   54        

Ans:a

108.  If the side of a square is doubled, the perimeter of the square is 

     a  unchanged b  doubled    c  halved  d multiplied by 4  e. divided by 4

Ans: b

109.  A truck driver must complete a 180-mile trip in 4 hours.  If he averages 50 miles an hour for the first three hours of 

his trip; how  fast must he travel in the final hour?

      a  30 mph  b  35mph  c  40 mph   d  45mph  e  50 mph     

Ans: a

110. The dimensions of a certain machine are 48" X 30" X 52".  If the size 

of the machine is increased proportionately until the sum of its 

dimensions equals 156", what will be the increase in the shortest side?

Ans. 6"

111. 30 poles are planted in a field such that the distance between each pair is 15mts. What is the distance between 1st and 

30th pole? 

ans:435

112. A person had to multiply two numbers. Instead of multiplying by 35, he multiplied by 53and the product went up by 540. What was the raised product? 

a) 780 

b) 1040 

c) 1590 

d) 1720 

ans:c
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